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Y.ScheatingProbity
Activities that require use of a shared resance

any one activity can use the resource
at a time

7 access to a classroom

a Soccerfield
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Watanarewetryto optimize for

least amount of unused time

A most amount of activities A

least amount of time to rn the activities

Define set Sij set of compatible activities

that start after ai finishes

adfinish before aj starts
Goal maximize S.j optimization problem
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Recursive form
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I3Greedysolutiontosomating
naive dividet conquer DD Greedy

Algorithmictechniguest

MFtways make the Current best choice

don't solve subproblems

don't think recursively

simple to implement I
doesn't always work

Is it efficient TBD
Tends to be used for optimizationproblems



Today's problem Scheduling

optimal Max of activities

greedy
at any one time pick
the best compatible activity

Always have a set S set of compatible
activities

at any step pick
the best

compatible activity
and add to the set

MatisthebestactutytochonN
Best leaves most resources available

earliest finish time

more than one way though

Activity Algorithm
input two arrays S and F

Fstart
times

finish
times

correspond with each other

ai has sci start time
fCi finish time



returns set of activities hopefully optimal

by indexes

ACTIVITY S f
A sort s and f by finish time pre process

S 13 a has eeriest finish time
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m 3
is 3 Compatible yes
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IDoesthisreallywartinwasarinpittocky
greedy doesn'talways work
But in this case it does where we

sort by earliest finish time

1Handoveknanitwon
Sk is any subproblem K Ens

Sk has am as earliest finish time
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let 2j EAR with eeriest finish time

can we swapout 2 and replace with am

Yes
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2m doesnia cant conflict with an

activity if 2g didn't conflict
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activity with eeriest finish time
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